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1. EMT
(DRLET
E¥LET =X 1. 000
PRI HE m3 275. 000
PRI WEIB m3 67. 000
TR H Y ot 24.100
S A 1 T B T ot 31. 300
HERL m3 32. 000
EETiag:s: ot 43. 500
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arv7 )—MEIET 2V 1. 000
a7 J—1b (Kig) BB18-8-40 W/C=60% m3 151. 700
IKFEFTHE B $:45 D22mm PN 100. 000
[FiZites PNAE300mm VN 1. 000
RIPET. 1RILA AT nf 111. 800
PRI T 90X 90 X 2, 000mm ot 59. 400
RUFET. (HokiES) — IR o 3. 400
25 m 47. 200
fIRE L =X 1. 000
arzY—1 (&S BB18-8-40 W/C=60% m3 4.700
T (S — IR o 16. 400
AL (I %%?5_7\15““‘ HEL = nt 16. 400
(3) Wil T
Ay ) — Mg L 2y 1. 000
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SRS FIZFEH5~15cm m3 16. 000
H i LA RC-40 m3 3.200
a7 U—1b (YL m3 2. 700
aryy ) —1r (KL BB18-8-40 W/C=60% m3 42. 000
H Hih VB RRAE R B 1P t=10mm m 7.800
AR U il e =5 #&50mm Vi 2. 000
W IR A JE10mm nf 1. 500
U — IR ot 93. 300
B m 33. 100
(4) R TR YRR E T
ERAL AT T =X 1. 000
F—LFL— h ggcitﬁsé (BR0em<HE |y 1. 000
SRR L =X 1. 000
ABERT v 7 300 X £%19mm PN 6. 000
(5) MG E T
S B L T =X 1. 000
aryy ) — MEEWEEE L L m3 0. 100
MEHR AL T =X 1. 000
Feid ay sy — N m3 0. 100
ET Ty T EM ar s — bk m3 0.100
WGy E ay sy — N ton 0. 200
(6) SCPEAMIL T
SEAFE T =X 1. 000
2Fx R MamERE 12cm VN 2. 000
2% A MoEA 13cm N 1. 000
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2% fRRE MBS 15cm A 1..000
2% R MBS 16cm A 1..000
2Fx fRRE MmER 22cm A 1..000
2% A MomiER 23cm A 1..000
2% R MomEsE 42cm A 1..000
2Fx R MBSt 44em A 1..000
2Fx R MBS 50cm A 1..000
2Fx A MBS Slem A 1..000
2Fx A MaEAE 52cm A 1..000
2Fx A MBS 53cm A 1..000
2Fx A MamiEAE Sdem A 1..000
2Fx A MamiEAE 68cm A 1..000
HEAR ot # MomER 1lem EN 2. 000
HEAR ot # MamERE 12cm EN 1. 000
HEAR ot # MamiEAE 13cm EN 2. 000
HEAR  ofR# MBS 15cm EN 2. 000
HEAR  ofR# MmERE 22cm EN 1. 000
BT Ty T FRAK m3 5. 800
WGy E FRAK ton 4.100
2. L
(1)L
PR T =X 1. 000
ER28o% ii-INN ot 1.100
PKE B - Wk ££300mm m 30. 000
poedey ¢
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